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@ & geE & fory AR s g wHE R &/
Note:- (1)  This question paper consists of two parts. Part A is from Core Module and Part B is
from Optional Modules.
(2) Attempt all questions from part A and any one group from part B.
(3) Answer to question carrying 1 mark should not exceed one or two sentences,
questions carrying 2 marks should not exceed 30 words, questions carrying 4
marks should not exceed nearly 60 words and questions carrying 8 marks should
be in nearly 120 words.
(4) Marks allotted to questions are given opposite to them.

qT — 3
PART - A
g1 fawraeiier srefcrarer &1 2ef gaarsy | (1)
State the meaning of Developing Economy.
U2 SR H 9 dHad Wifad aE 0P A1 e @7 S ¢ | (1)
Production includes not only material goods but .............. also.
93 = %99 98 g INdT Tad — (1)

) 3refgaverai § WIfd deE 81d © 3R SHdT ddbfedd SUINT 8idl B |

State whether the following statement is true or false -
All economies have limited sources and they have alternative uses.
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Ao DI | AT FIT AU 77

What do you mean by equilibrium price?

e IIGr BT TTH AT & S e BT 2 |

Entrepreneur is the owner of the business who earns...........cccocccvveeeeen.

AT oI & 1Y T AT &7

What do you mean by Marginal Cost?
AN & 9 @ Uare J1 8° WK DI |

What are exceptions to the law of demand? Explain.

g uRad=eiie oTa der 3id ReR o § 37X I I |

Distinguish between Average Variable Cost and Average Fixed Cost.

JMTHE U e Qfd & H27 IR e BT |

Distinguish between Inductive and Deductive Methods.

FrfeRad 3 &1 gul SIS qAT ye—<qReAT BHIfoTg—

IRITT Ud FARSITT 319RT § &7 37N 287
What is difference between Micro and Macro Economics?

el g%y @1 gfd BT yATfad = arel dcdl a1 fad==r IRy |

Explain the factors affecting supply of a commodity.
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913 gabih Bl U faRIvard aaarsy | (4)
Explain main features of an Index Number.

U144 3adel W7 9 R 87 I8 DY U Bl 2 | (4)

What is a concave demand curve? How it is derived?

U.15 AR H1Eg & T[0T UG ST Bl ARAT DI | (4)
Explain the Merits and Demerits of Arithmetic Mean.
U146 QU D I I STFAFI & gl Ufa SUANT BT ool DIty | (4)

Explain any five uses of National Income estimates of a country.

g.17 f=foRead oR fewoh forRau— (4)

(1) ol IR & fhaThary
@) d7
Write short notes on —

(1) Open Market operations.
(2) Bank Rate.

u.18 3Mfdfe faem vd anfdfe Hgfg # R W BIfy | (4)
Distinguish between Economic Development and Economic Growth.
919 () UG AFENT = 9 (R — ? (4)
(i) ST — SUART T = oo ?
(i) BTNBS oo, Sl | U fhy ST § |
(v) e Rigra a9 & aT ARt & oo Lers AR =
(i)  Net Investment = Gross Investment - ........... ?
(i)  Income — Consumption Expenditure = ............ ?
(i) Data are collected through ................ccceee. sources.
(iv) The two methods of constructing an economic theory are
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g.20 fferRad mafy faaver & urcdrel &1 SR A §1d BHIfY | (8)

qTlis — 65 | 66 | 67 | 68 |69 | 70 | 71 | 72 | 73
foemfeiar |1 |4 |5 |7 [11]|10]6 |4 |2
T —

Calculate Arithmetic Average from the following frequency distrabution of marks abtained.

Marks 65 |66 |67 |68 [69 |70 |71 |72 |73
Obtained
No.of |1 |4 |5 |7 |11 |10 |6 |4 |2
students
Y21 TR 3T AMOA &1 i ARl &7 Seekg & | (8)

Mention three methods of measuring National income.

Y22 A 1991 H 3N ® e & foly SRR HRBI BT Afdrad quid BT | )

State briefly the factors responsible for Economic Crisis of 1991.
¥.23 fhad gRT IR & g1 &1 fd FEEd &1 o dadl 87 (8)
By whom and how the supply of money can be controlled?

YT — 9 (998 Uh)
PART- B (Group One)

Y24 URST a1 F1 2°? (1)
What is paging service?

Y25 AR oIl RAT 87? (1)

What is solar energy?
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STl BT SHAHTSTT TG TUgUs T 87 2)

What is sub-division and fragmentation of holdings?

AR JNdaRRAT § AEai+d &3 & DT oy | 2)

Write role of public sector in Indian economy.

AR Rfaawell # Aed URded &1 Agd | 2)
Importance of RoadTransport in Indian Economy.

el ferRag— @)
() U FOT & A

(i) ITSERI ST H HY BT INTa |

Write short notes on :-

(i)  Sources of Rural Credit.

(i)  Contribution of Agriculture in National Income.

IR # 71 ST IARHAT & oIt ITRER HRBI BT ARAT B | 8)

Explain the factors responsible for the low productivity of agriculture in India.

T — 9 (998 Q)

PART- B (Group Two)

qRd # faqeh @R &9 $=ar 287 (1)

Who are engaged in foreign trade in India?
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el W 9 1 o™ 19 gt 87 (2)
What are advantages and disadvantages of Foreign Aid?
SAEIT 7 g gig BT Yol AT 'R 991a BT quid ST | 2)

Explain the effects of rapid growth of population on capital formation.

Brod H AU 1Y Jmedi § 4 ST oeg gaax Rad wIAl & gfd diforg— (2)

() URA H TS STHTUFT oo # @1 SITUEf | (2016, 2021)
(i)  ART BT TTIT oo gferera STReT Irar § JE 21 (50, 75, 90)

Fill in blanks with appropriate words given in brackets.
(i)  The next census of population in India will be conducted in..................... (2016, 2021)

(i)  About ......cocoiiiiiiinnn. percent of India’s population lives in rural areas. (50, 75, 90)

FrfoRad weMT 3 | SF—1 ¥81 IR DT Tad g— (4)

() R H DA 5T | FaAd folfT 3uTd iR Failed T &R & |
(i) HEAUSY H UG Y I HH T |

iy ST H A gfg TR PI O &R H A1 A A BHT BRD DT ST FhT & |

(v) WRA H SEEA B A9 ghg &% 91 319 WD &1 9Id 7, ik I8 onfde gfg

TERD ¢ |

State whether the following statements are True or False.

(i)  Among Indian states Kerala has the highest sex ratio and highest birth rate.

(i)  Life expectancy is lowest in Madhya Pradesh.

(i)  The fast rate of increase in population can be checked by reducing the birth rate at a fast
rate.

(iv)  Fast growth of population in India is a source of large labour power, so it helps in

economic growth.
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U.37 9Rd H GGl $ g ghg &) Bl FREET BRA 2g AT g§RT -5 9 Hed
So T §? )

What steps have been taken by the Government to control fast population growth in India?
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